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                                 Comparing Meiosis and Mitosis
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Directions: Fill out the chart below by placing a check in the box or boxes to indicate which the event occurs in (some events might have checks for both mitosis and meiosis). (Note: “Homologues” means “homologous chromosomes.”)

	 
	Meiosis 
	Mitosis

	Two cell divisions
	 
	 

	Centrioles appear 
	 
	 

	Chromosomes pair up 
	 
	 

	Spindle fibers form 
	 
	 

	Daughter cells identical to parent 
	 
	 

	Cytokinesis 
	 
	 

	Four daughter cells 
	 
	 


Answer KEY

Comparing Meiosis and Mitosis

Directions: Fill out the chart below by placing a check in the box or boxes to indicate which the event occurs in (some events might have checks for both mitosis and meiosis).

	 
	Meiosis 
	Mitosis

	Two cell divisions
	x
	

	Centrioles appear 
	x
	x

	Chromosomes pair up 
	x
	

	Spindle fibers form 
	x
	x

	Daughter cells identical to parent
	
	x

	Cytokinesis 
	x
	x

	Four daughter cells 
	x
	


